
Multiply and Divide by 10⁻³ (C)Find each product or quotient.
0.593 × 10⁻³ = 4.48 ÷ 10⁻³ =
3.64 ÷ 10⁻³ = 1.35 × 10⁻³ =
8.6 × 10⁻³ = 2.72 ÷ 10⁻³ =
7.57 × 10⁻³ = 3.5 ÷ 10⁻³ =
5.1304 × 10⁻³ = 9.95 ÷ 10⁻³ =
6.3 ÷ 10⁻³ = 6.7 × 10⁻³ =
1.8967 ÷ 10⁻³ = 7.7055 × 10⁻³ =
2.792 × 10⁻³ = 9.4 × 10⁻³ =
0.004 × 10⁻³ = 2.4359 × 10⁻³ =
0.63 ÷ 10⁻³ = 6.1749 ÷ 10⁻³ =
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Multiply and Divide by 10⁻³ (C) AnswersFind each product or quotient.
0.593 × 10⁻³ = 0.000593 4.48 ÷ 10⁻³ = 4,480
3.64 ÷ 10⁻³ = 3,640 1.35 × 10⁻³ = 0.00135
8.6 × 10⁻³ = 0.0086 2.72 ÷ 10⁻³ = 2,720
7.57 × 10⁻³ = 0.00757 3.5 ÷ 10⁻³ = 3,500
5.1304 × 10⁻³ = 0.0051304 9.95 ÷ 10⁻³ = 9,950
6.3 ÷ 10⁻³ = 6,300 6.7 × 10⁻³ = 0.0067
1.8967 ÷ 10⁻³ = 1,896.7 7.7055 × 10⁻³ = 0.0077055
2.792 × 10⁻³ = 0.002792 9.4 × 10⁻³ = 0.0094
0.004 × 10⁻³ = 0.000004 2.4359 × 10⁻³ = 0.0024359
0.63 ÷ 10⁻³ = 630 6.1749 ÷ 10⁻³ = 6,174.9
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